T

L A, T

33. Find P(z=2) =0
7
34. Find the probability that a student takes five years to earn

a Bachelor of Science (B.S.) degree. v

35. Find the probability that a student takes not more than four years

to earn a Bachelor of Science (B.S.) degree.

36. Find the probability that a student takes at mosk five years to earn
a Bachelor of Science (B.S.) degree.

7
“ind the probability that a student takes more than four years to
earn a Bachelor of Science (B.S.) degree. &>

3R Find the nrohahilitv that a stndent takes no leas than five years to
o o e PP — — .

earn a Bachelor of Science (B.S.) degree.

39. Find the probability that a student does nof exceed six years to earn
a Bachelor of Science (B.S.) degree.

Find the probability that a student earns a Bachelor of Science (B.S.)

degree 11 under lour years.

% v >
Find the probability that a student takes over 4 years to earn a Bach-
elor of Science (B.S.) degree. . <

42. Find the probability that a student takes fewer than 5 years to earn
a Bachelor of Science (B.5.) degree.



Outliers
To determine if a point is an outlier, do the following:

1. Input the following equations into the T 83, 83+,84, 84+

vi=a+bx

¥a =@ + b.ﬁl- 25 where s is the standard deviation of the residuals

¥3 z(u i b,% 25

If any point is above v or below v then the point is considered to be an outlier.

Linear Equations

¥y = a = bx where a is the y-intercept and b is the slope. The
varlable x is the independent variable and y is the dependent
variable.

Least Squares Line or Line of Best Fit:

M
y=a+ bx
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